Rovnice:
8 . k = 72                         30 . m = 60                            40 . p = 8000



4 . x = 28                        9 . z = 63                                  50 . y = 3 000


 100 . m = 1 000 000        40 + x = 45                             y – 20 = 20


40 . m = 2 000                  40 . z = 20 000                            


6 . Δ  = 300                  6 . x = 420                  70 . z = 21 000
5 . Ο   = 20                   5. y   = 30                     4 . n = 16        
Δ =                               x =                              z =         
Ο =                               y =                              n =
Δ + Ο =                        x – y =                         z + n =        
